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1. except 2. seriously
3. intelligence 4. appear
5. control 6. endanger
7. temperature 8. aspect
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1. than it could carrying an adult

2. With the insect trapped inside

3. No longer in need of money

4. some of which weigh as much as
5. This makes scientists think that
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Word Review p.112

1.(A) 2.B) 3.(A) 4.(C) 5.(0)
6.(A) 7.(A) 8.(0)

Sentence Review p.113

A22 Answer Key

Chapter 6
Classifying,
Categorizing,
and Organizing
Information

‘I() _ Classifying, Categorizing,

and Organizing Information
Questions

Basic Drills 1 p.118

Contrast/Change Subject

on the other hand, while, as opposed to
Same Subject

Furthermore, Finally

Whales Fish
Breathe water v
Eggs v
Live babies v
Warm-blooded v
Cold-blooded v
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Basic Drills 2 p.119 so that they can go fast. Sailboats, on the
trast ; other hand are big so that they are more
Contrast/Change Subjec " .
8 J comfortable. In addition, sailboats can
however, on the other hand i .
; travel into the ocean, but this would be
Same SubjecC :
J very dangerous in a speedboat. You can
Furthermore .
only use most speedboats on rivers and
Southern  Northern lakes.
States States
More money v Sailboats Speedboats
More people v Wind power v
Farm states v Large engines 4
Wanted slavery v Small and fast v
Factory states v Larg]? atnctj)l v
comfortable
For lakes and
. 4
LS 0|2 A 2|0to| HYO|UCH TR AL rivers
ZE0| oA =Tt Mol dolofatn HZsHz|er 42 & -
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Basic Drills 3

p.120

-
Many people love boats. Going out on

the water on a warm summer day is
a lot of fun. But different people like
different kinds of boats. Two of the most
popular kinds of boats are sailboats
and speedboats. Sailboats use the wind

to give them power. They only have

small engines. In contrast, speedboats

have large engines and go very fast.

Furthermore, speedboats are usually not

as big as sailboats. Speedboats are small

~

Basic Drills 4

p.121

s

Running is a big sport in the summer
Olympics. Running was one of the first
Olympic sports. There are two kinds of
runners in the Olympics. Sprinters run
for short distances, usually less than

400 meters. Distance runners run for

long distances, sometimes up to 10,000

meters! Distances runners and sprinters
have very different training programs.

Sprinters need very strong, powerful legs.

This is because they must go very fast,

Chapter 6. Classifying, Categorizing, and Organizing Information A23




but only for a short time. They usually lift

a lot of weights with their legs to make

their muscles bigger. Distance runners,

on the other hand, do not need to run as

fast, but they must run for much longer.

They do not need very large leg muscles

and usually do not lift many weights.

Furthermore, distance runners must have

very strong hearts, because their heart

must work hard for a long time.

: Distance
Sprinters
Runners
Large leg v
muscles
Strong hearts v
Run short
: v
distances
Do not lift
. v
weights
Run for a long v
time
- J
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Reading Practice @

p.122

South American Tribes:
Large temples

Large armies

A24 Answer Key

Powerful kings
North American Tribes:
Chiefs

Small communities
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® Large temples: 121 £ 2=

@ Chiefs: 8Mj & &%

® Fought against Europeans: HgEX| 22 W&
® Large armies: 6/ & &x

® Powerful kings: 5 & &=

® Excellent hunters: HZE|X| 22 HE

@ Small communities: 138 & &x

Reading Practice ®

p.123

-

Athens:
Great thinkers
People chose leaders
Sparta:
Powerful army
Many rules

Long time in army
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® Great thinkers: 7W & =% =

® Powerful army: 8-10Mf & &= @ Wanted to teach many people job skills: 7/ & &=

@ First Greek city: S12%[X| &2 Lig @ Did not trust whites: AZEIX| U2 LS

® Many rules: 113 & &= ® Wanted to send most intelligent African-Americans

® People chose leaders: 13M & &% to college: 9-10Mf & &=

® Fought many wars: AZE|X| 22 LI ® Thought African-Americans must change

® Long time in army: 13-14% & &=X America: 13-14Wf & &=

® Thought African-Americans could not change
America: AZEX| 22 LHE

Reading Practice @ 0.124 ® Thoug_;ht America would change naturally: 11-12
- ~ wEEHE
Booker T. Washington: ® Thought African-Americans needed powerful
Wanted to teach many people job jobs: 11-12/ & &=
skills
:2:3“[:‘2::/ America would change /Reading Practice 9 p.125\
W.E.B. Dubois: Colonists:
Wanted to send most intelligent Better guns
African-Americans to college Attacked in small groups
Thought African-Americans must British:
change America Fought far from home
Thought African-Americans needed Larger army
powerful jobs Fought in European style
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@ Help from Native Americans: HZ=X|

@ Better guns: 8Wj & 2=
@ Fought far from home: 9-10mf & &=

® Larger army: 25
@ Attacked in small groups: 7MW & 2x
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1.

.over time, space shuttles save

.the U.S. stopped using space capsules

Ik 22 o 4

0

7ts

money because you don't build a new one for each

in the early 1980s”2t1 Ltet QlCt.

= A2 2fAlote| 2F¢z0|ch

trip into space”2t=

k=2

16-17m &2| ..

7-8m Eoil “..

2.
3.

Pl
ol
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1o
o
ar

=}
oK

22

advantage”2| &=
&t 4 Q= 2H|0[C. “While space shuttles have many

“

4.

p.126

e

oro
[y

@ Fought in European style: 5% & &%

® Smarter leaders: HZEX|

iBT Practice
6. Space Capsules:

Large metal ball

o

[

=g Qo]

‘X
=}

o

Lh

A= 0l=9
b

()

0|22 “advantage”7t
o

AHS]

»

0] ¥2 “advantage”s
o

2

Lh

[

[

ROl Uct

—

advantages, they are harder to build.”0lA “while”
C|

“although” et 2 9Qo|E
(A) Most trips into space: SHZEIX|

19861 200301 &

o
—

5.
6.

Perfect safety record
Still used by Russians

Cheaper to build
Fly back to Earth

Space Shuttles:

A26 Answer Key
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B) Large metal ball: 4w & 2t
C) Fly back to Earth: 10mf £ &=

2. YoNo=2 tiHAN= HIZ ol L2 FOHE 7t2)7l= 8=7t
D) Ver t ild: HZElX| L2 HE
ery easy to build: =] ¢ f JhEh it F Mo Fofol farmlng groups’ Z CHYISHH &=

)
E) Cheaper to build: 16-17Wf & &=
F) Perfect safety record: 21-221 & &%

e~ o~ — —

o

G) Still used by Russians: 7/ & &= 3. ™0l= "Having many people”ofl T LSO L2,
ol= “many advantages’ofl Cist LHE0| L2 Xg Fot
HEE St
iBT Practice 0129 4. ST so= HBEO U= BAS paraphrased 4
so CHAl BEHEAMR! becauseE At8ste ER7tF HLt i
1.B) 2.(C) 3. 4.(A) 5.(C) H bute2 HZHE 2A2 53| though, although. while
6. Hunter-Gatherer Groups: S& A85101 paraphrase®Ct.
Small groups 5. F i Lol opxjak 222 o EH 53 o=
. ol Azl Rl K| = S oS A
Farm|ng Groups: “soldier” 7t UM F MY R ZHE g= =
. AACH= XS Y 4= UL 0[2{FF AFLZEEH “soldier” 2| 2
Had soldiers ) B}
0| ke 2SSt
Took land
More people 6. (A) Small groups: 10Mf & &=
beop (B) Often hungry: SHZE|X| &2 i
Built permanent homes (C) Had soldiers: 17m = &=
”””””””””””””””””””””””” (D) Took land: 19w & &=
o
-8 ME it 53 T (E) Lived in tents: S1ZEX| 22 LI
S WM 27 AR 28 Y Yoy 5 YHo| (F) More people: 158 & &=
2= & Z20| ALS|O|A] AFQICEH 43 2j3] 2ck2 0|2 (G) Built permanent homes: 5-6 & &=
S 0| 3Ch OS2 At 2y dee 7| ¢=olct
57 YT 22 SR0| FAHA YT 7SS A
Ch =3 YTT ALS o7l AP RRe AtE & Word Review p.132
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Chapter 7
Prose Summary

‘I'l _ Prose Summary Questions

Basic Drills 1 p.139

1. When a hornet attacks a honeybee
nest, the honeybees have an

interesting way of fighting.

2. They started the colonies in America
for religious freedom, but they started

other colonies for different reasons.

3. The invention of the electric guitar

greatly changed music.

WORDS  spice, electric, invention
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Basic Drills 2 p.140

Humans are the main cause of

shrinking forests.

Shrinking forests cause problems
for the Earth and for people.

Shrinking forests are causing
pollution.

Modern technology brought

attention to shrinking forests.
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Basic Drills 3

p.141

-

1. Early humans used dead animals for
many things. They used animal skins

as clothing. The animal skins were
tough and strong. They were also warm
and were very important during the

cold winters. Early humans also used

the animal bones to make tools and

weapons. Early humans made some of
the first knives from animal bones. They
also made arrows and other weapons

from animal bones.

2. Female black widow spiders are very
poisonous, but male black widow
spiders are not. You can tell a male
black widow from a female black
widow in many ways. Female black

widows look different from male black

widows. A female black widow is about
twice the size of a male. In addition,
female black widows have a red spot
on their bellies. Males are completely
black and have no spots. Moreover,

females usually build larger webs than

males. A female’s web may be several
feet across. Males usually do not build

webs as large as this.

3. Tattoos are very popular these days.
Most parents don’t like tattoos because
they are permanent. Once a child gets
a tattoo, they can never take it off.
Some kinds of tattoos, however, are

not permanent. Henna tattoos use a

special ink to color the skin. The ink

stays on the skin for about a month

and then washes off. Henna tattoos

originally come from India. Young

~

people can also get temporary tattoos.

Temporary tattoos are like stickers for
you skin. They usually come off in about

two weeks.

&

ro pw
N
2
ro
ry
nn
rlo
AN
rlo
HU oln

)\
o

= Mo
o
k=)
n
d
~
Hu
=)

o
oln
o
1o
N

w0

2

il

N
]

2 B0 fgp

ful

o
10
J
0
|0

ol
2 0|.|'|
A
ror
;IE —_
:O‘I__l
x
A
ofn
o
2
40
0 ofN AN
Fo rlo
ey
40 o' rim njn

2 o ™o
10
=
>
=OL_I
>

e re 19

mn oX mok

N
0‘|NoH-|_E§

N oo

n)
0

FAonn Hg

GG

0 b —

= ro

-ﬁﬁ N
un

L0>1-' Y |'||0 Mo

Uz

i)

il

r

40

N

un

njo

ra

nn

$Q

il

]

:Q
ful
B
P
lo
i
=
rir
ol Ml
o
10
i3
HU

un

|’|0 |-_'D_

oY
rlo
i)
e[
N
o
|0

In

lo
0
ol
o
_o'h
fin)
_O'E
Rl
e

o »
oy
rlo
=
o
N
=
)
02
e

o g

it}
T
N
a
rr
I
o
Y

— 1
T

»ooon
oy rr
£0
N

ro oz
oE

2

Ir

ke)

o

AN

Rl

d

09

Y

oy

S fo
i)

e[

Y

i)
4
N T
o
i)
0=

N
=
N
fin)

v =
jin]

(o]

¥
4>
N
10

£
ox
H']
o
o
|
o
1= }_‘]
e g
N
X o
£
=
I3
B~ g
roh g
o o
0
anl
fosN 09 i

R
2
Il
0
tu
A
o
>~
=]
fJ
oX
o
£Q
o
N2 g
H

rly
N 0
mo T
o)
Ir
fin]
[e]
N
rlo
N
o
por

m rlo
E o4

n

o
HT
n
N

4> ro 40 4> Hr oY 02

uo g

o

1]
njo
poal
-
n
Pt
patl
ro
or
o
X
1]
)
1]
N
>
52
rr
n

fo
ol

L0 RbolCt F2S of
of €2 FO5HA| ghelt. LT E41S 5 &L
SICh StA| 2 O 2412 G+2{0| 2| gLt |
E
nl

S AHESHY

i N
D)

> o 0

B[t

Hr

rlo

Ho

r=

=)

0

-4

i

=

i
Ho
=
Hc
=2
o
ujo
ujn
o
o

W
Xl

4 e o0
&
(il
H-|
=2
Rnd

oc

o

N

)

n}

]

o

rot
i
oX
b o
i=]
4
2
&II
-
Mo

Mo »
r=
N

I

o
anl
a
ro
=l
un
ro
°
o
ol
Ho
>
ro o r>=

wel rjo
H
0
inl
nue
b
oo T
H
2
me
=
g
[>
m
N
my

N
o
_|T|_
]
!
rlo
N
N
o
H-|
N
reg 4c
ng
2
™
o

Reading Practice @

H
rir

1o

=2

oo x
o W = oo
N H
mo N rr rr ox
x

Hr

X
gk
-4
rir
i
40
)]
=l
x
Ho
e
|0
Hu
iz
1>

Chapter 7. Prose Summary A29




1
= <
ns :
U [}
S e}
= = = | _ ou U
X T 5B = = o_uo_o_E = <t
oy Almﬂnc fmum_uqu < o
' 0 &J O wd S o o X B Jd o =< KCOoNo Hr ® | 20
el s . mUo_qu__o ._|m._Au|_o_. m_n_n.z||z_. u_._|o“_
_v_n_._m&cww = i o_u__o____ol.a__|m UNHXMH __o_.uNm_nJr_lmaM q__q_mxs
- = " c | o B 3 X X ou g o8 mM 4dr S 00 =N B0 or
m_w_HFL : %o_nomol_a_ _H_Mm_mﬁml H_NWOT&% OF i
mM_._x.AmomD\W ! uEuWMm_._..ArW mﬂo|7A_.M m_zﬂ_‘.auwwmn T~ 6
3L ue " gexzse <Z¥ams Gy g 5 B p
o M= L P ! iaanHm__o = ¥ o %o mM%___:_Lulwa__HOM A o
Do .m“.mbuo: ' W s =} T MM W oo < m__a o o8 ol w0 g o I & = %mmﬂ_ prar]
Shig " E) T o MEHMEJ%N:_EMO_:_EM% ~ 2w S
O_H_H(M.A _m._._.H_ mn__n_ElE._l_lAlM NLIOlv.AI .|NFDO|_HH_|:.._.DOMO_E LA.U__O__.I_.
sRss g () "a%moﬂ%o w_mMm_%q,_Aaau%o__una Zou x| =
mm_cmo | O ml o) ¥ oy o dmém%e__& .uaaol_ﬂi o =
mmo_ﬂe% 9 uomgmgao@m__z__y% Lnwz_a:__o__Zf__qu_;oMm:__ T o =
S L= — < iy — =T X X &3 S = R = T3 & —_
— - iU ol ujn  — N ol O — ol i w = wl o< -— g [R - = 00 . =
E_Lr_||go| e ! ﬁ.rol_aaj 1Pau%qm__o _._._EA_....._Llo_. = - -
— L = ~ ' L= T AL _ = 8- o ok ol g = =
moMm.uui & " @&M;H% @m$ﬁ77mﬁmooﬁﬂﬂzﬁ L % =
|_..A||_w||_|_._.HA_”_ﬂ [ \ m_.ow_n_c_._._ﬂ_ m_.lLlQnMn._ |m_._=_.r__z._:orau_:._ mmou_ o
mEHWE ez TEa sy uuauoo__mw_éir.rg__m £ W0 _
._J._ 3 - ol = )] (.," o T mM |_|._I ~ = ~ MH g Ul m_.z._ 1o A ~ o 7 O o3 o R T
._eu_._r_a_.. ' ol o3 ~ = X 3 Eor 0 - B U1 B 8%
T Moot gy S o uﬂjimﬁej%maaThaMug o
— — = " — ~ i X mH: 0 |r_|O_L
o K Hd=o T = T T o I3 X
ME_.oﬁ___._l___ Q |
o oy o170 o _ = = = o
ol o T 7o H:_._JOOIMJ
.__._o..._.am_x_“_ T s T o0 W B X
X ol ow W s o~ man___mom.wnﬂlm_.zlf__%
" JOEHIN OFIIO_EW = ol 5T
0 2 ! qmommp__qu Lc..:mm_uamomom__am_ﬂr%
L S | __HOMJzBa.mMm__z__lzo__zaiTaw
T Koo _ 40__:10_.1n_.%+orc_ao__rlmi
X0 E BT = ! K ul Uy < F
oz 3 zo=ﬁ_/_nﬂﬂ% N F R : AFEOOHJ%m.u.amu.ﬂ_:w_g_uzoaom_
N = B | — O = = nd a0 &1 OH =
il E.Lr_lmzou%w M_mﬂé_ i 7m|w|au__adwo¢%NAn_|.%wrown_%m= -
R Ea_m_ﬂn_..o__% S M E ! ﬂw_o_ﬁowﬂmaﬂmo_%u%uﬂm;a zu
a HO_EHWE%% U RTE " M%m_ol__ZTM%LD__mﬂq%uo__row = %
2 ___aa_l__HAM__o__._E____ o= " %M%H%&Jﬁ%w_%tzwmmﬁu e
o @Hoﬂuﬂﬂ% g Q Lm0 @nﬁo__o_ea__Mo_umi_a_ﬂg.wr.maz
K- Fr ol O = o2 mu =) - "ll._.ﬂ_b.?ﬂw_.om S o L|.|_L|.|Hoo_._
I = B 0 1 o r — ~ Z 0!
- H.grmAzw o om PR @ i awwzzu.a_;th:M .__FOMB%:_;_
or T Ko o) T o @ 2 ) = bef ' 0 S T o = o B ol R T A S . A
o afmie_mse =~ X T oo = ! o = g Toul = oﬁm%urh
N 0 L w oKX += ! SRR S Tt A o s < g
fd —-— = o o 2._0 _l_l =0 110 Wl = Nl (§] H il - L oJ |_.ﬂ_”_ _Ih_ - 3 _lh_ & . 3
= N O U 1 o ~ L U oRr . sl g z_._u _.___.= O_E ol = 1 =3 O_E ey 2_._| ol &
o ”ur_u._.._m - E_._m.z_.ﬂ < 53 m . ilo. - u_=_||._ 70 M < @ B a3 M o 9 ok &
o q;aoqumf__ LR Q| - mmnzmﬁ_mf_%ﬂwoguﬂom_.zrﬁgm%
o U @ C N S o (TR T X oy o™ s R T 5
ol SO ome Toxon ok UL o = ,m._:._Ao_.l =W < g & of So od of
pry T N o o - = - — B0 =X ™~ Zo_E ouu_n_._
20 u._7=_ Mo O _._'.__._ o0 _“_x_.._._r/r_p_z._ c = ! uJEO|L|.A S ms| TR
= :.IroMaE/oI S . = o § AW g o 3 S oM R o 30 1
! L N RS T g - 4I+mo%:__oro=_meg
o _u_mﬁw.oﬂl_/m_%_AOI_Lr _AHN_._.__ © = BqlALll_m_“T_ _H__
) U woe AT — = 0H i e © B" Bo wr o
o3 VR R o X og . 2 or T K Q _
= _..__.ﬁ_zmﬂ__hﬁymﬂ_u7A o = B o _
MLI. el H_q e ~
Uu o3 Bu= of JJ M o n_._m <4 m _“_W_
o T X oo o3 0l K B of ™
mmluo_l;m_._.__l_._o
o8~

A30  Answer Key



&= O 5 oo ou
B0 T RO

Chapter 7. Prose Summary A31

s o op ® T & o 5N L|
2 30 oo O £ ol M E o il =
S Ry B = T = o = S 1} u
o wun o© ) = O of ilod o o
o)) = m Vm_.o S & 5T o H_l_._u_._._ a2 =1 |
ST Z c 2 aT T A s | Mo M - oT
o _|_.|ﬁ N |_|_|_ — 11 > 10 > i I_LM <u ) E_)E ot .EuLI._ mm s — ” Bl 5} W
w_Mn__.r:MLu. = M g oH = T 2 =<K © < ” m S S o
__b._Wa._.r:lr_ o M o =X & S Du_:._(am%ﬂ_ - ” ET RN
n_oo_nn_._k__mm = 5 L2 2 55 __HOM__fo_)__ﬁAzO 0 ! S Y oGl ooy
o__.ﬂ_mm_/u__ﬂ%_ T o mﬂme_f S Al %E_EBxazool_Lr_h , wl_WEA._utn
v Ho z . . — T L= ” o %0 —
LR R _ H o K — k) N
w oo ooen < 55 = = - DN O_EWE_DEEOM < ” T (Y
T = - G Em ) ~O oo ®=s wE : R N
R A N < v v | 20 [SIeTS K L= o O ORM
ol oy Tox 9 nm @ © o DSV o) =R i < S L A~
o - 1o = = o s = .o = il ol & 5 = J L fHo © i
S 0 o = ko) 2 S ol T |r||r._.|0 = o < )
H Z X o < 6 v 8 2 g 5 TN 5 oF o X0 7 o L < o o T 5 % m
1l M_.E_n_ -~ -2 B oo o W Bop HA T I E %) ”HEH_WW
A_W_EO_EEMIM mm.xﬁwuﬂﬂ%mmmwwézoc%m% pt s ZTE
N = o C - =+~ oW H)L|||._|__o|+%_ ) T = °
W R U o o wwa_wzmmmm B 8 S mmmz_u_o:m_oﬂﬂgwho% @ ”w._u,__%w__e
Hogr @ o, o < 2 M§P° W oy xE RO W o I 2k
i o & . S o A B ~ 7o — ol , = . =)
g o I oo N o W ___mom____m_w___&wns M_E___gmmo%_ 9 E)”awuwa
L% o 5 s T~ 5 39 i o aroHr w2 Ko < XU = w = o 7]
|_|._|8|%1I K @ T O © © % W o B | H = = Kl ] o = TIS) o0 2
75y © o o o4 c = = R o & k R i oM W = - P = AT a
R= N gool E s M.moo_.nﬂuowo w_um__o_.mo_un_m_uo = e woo g U
f] o o B 80 S LT FFRF T m_I |_A_./| = oH__M |E |_..,_| = K 7 m \|_./M o \P.ul ! R o =)
- o N - = = mo e
. - - i)
® < o < m - © | S o o
[T 1 O_LJ.OILI
| g
N ilo ST - ~ —
o M o L AL T RE S
= - M e o o ae Kl ol = &N
=< == i~ M i © ol R 1] d1d ~ 0= O ,
_._._W% My =« F > x5 & o om T = ” TWE E T
T A o EWJW%:_E%H% o =K g . e | - ” u_uluano_euu ol
of 5z & ToBpo <0 m_m._/ﬁ.%gm_. @ | g HT T E ey
w o =B x%o_ﬂm;_emlcg R ~ ” ECR ST o R R F
NH T e E_E__ﬂ%+1r__%m_g_. oo X Ao 0 ” T < OJ A0 o o oo =
~ ol el T oab < L X0 = W% W ! ol 30 H = o 9 3
A TR TN HE o ] S ol X =2 | 3o J0HL RO E ol m H
- X W0 T < T o= & H o oo i ...._k_._a . , TN s s g H
T 5 o A - o= R g W = 0 & E ) , ~ - = = 20 2 ~
m = &y @ _._ﬁw/__omMjmoMﬁm__.ﬁ_6e_a__H0M __ro_o_anﬁ_u.ﬂe____ = ” :_._mmm,_wn_:o_. W R B
S X 5 = to ¥ 0 2w T2 B - ERhER&ET - NERZEDLER <
40U U L op W T = 2 X A H W= = o= o LW 80— .%o_.._o.r._uwc_a o
= e =0 = X0 ~K v = & oU o) o - ° of 1o = | o = oo .53 (]
T < < X F.x.oa_aj._ﬁom_.a| o3 = E_:..c.._ﬂ__&___._m = ”o_._mm1__oHOL|D||a_._1
SR R L = 2 o W oMoy = e s T PR IO T T
od = <0 < o< U N __W_ 0 N — o 44 ko = . T ) _|_._ 0 R O = 3
oo M X — o & oF xronu ic B 5 m n ™ R I < oIk o
< 2 > = " o Fr NS PRk 2H® B o o= o M WA %
Ay M@ Ww P L K .= 3 | A T
<~ 2 o & - o= 2 o WV <F T o or RI i o)) , ool as o
W % g oz o <A B ToF X ® S wEos O | 5 ! T = W o N o
T = e Y fun =3 w K S S S — o — X o LS. 7 T = o JjJ 3u
B = oAz M U < oo oo = = W =L o d s
ol 533 & W o & RS . BT y H oo = H %] T = 2N -V ) S N
_|I| [¢] o _‘_'n_ w _..|A_. oR :1_ |_._./.I ] I_I._l m _l__ ~ = KW = L||_ _J_l._ NS 1 ol — O_I __OM nNO Bl o =
%ATwmwwtmw__wm:Mam_w%_ i BB L o s wEIsXPH®ecw
gem_n_uﬂ_/mwlr_e____mje_a__%mo %ﬁxs_ﬂvx( o - = uac_e__ﬁovww%mool_.nr_
o0 W0 UF T &0 T T . S K = 1) hn_ m < = — U Il JJ O < <
[ o H R - = = I < ¢ = = = X
S oMoy R oF 5 6 U A0 B
J 2 = oo m -~ © ! S odo & AR B W
Ul RE of = = | R




p.152
p.153

2. average
4. spread

6. electric
8. minor

1. each kind of which
2. it turned the skin black

1. summary
3. notice
5. colony
7. invention

word Review
Sentence Review

3. helped the disease spread faster

5. It took thousands of workers over
thirty-six years

4. had a great deal of work done to it
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Mini Test

Mini Test p.154-163

oF 19509t St FH= +HU2 AlFdES Yor=RAT
Jde 50| SUFA 2t Y2/ 2 At 2 THH &
4 At wet CHE B2 GIATt

1. (A)
6. (B)
10. (B)
15. 3

2.(C) 3.B) 4.(MDO 5HM4
7.(C) 8.(B) 9.(A), (), (E)
(B) 12.(C) 13.(C) 14.(C)

17. North Pole:

Sea of ice
Large animals

Not as cold

South Pole:

18. (B)
23. (B)

Huge continent

Almost no plants

19.(C) 20.(A) 21.(C) 22.(B)
24.(B) 25.(B), (B), (F)
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Mercury program
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A) Mercury program: 120 £ 2=
B) First man in space: 23-24% & &%

C) Changed launch plan: 214 & &=

E) Better scientists: MZ=X| 22 L
F) Sputnik: 1m & &%
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(D) Used monkeys in space program: 178 & &=
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(G) First man on moon: HZEIX| &2 LIS
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8. John Wilkes Booth:
Good childhood
Helped U.S. enemies secretly
Took a long time to catch
Lee Harvey Oswald:
Killed President Kennedy
Never had a good job

9.(D) 10.(A) 11. 12.(B) 13.(C)
14.(C) 15.(B) 16.(A) 17.(C), (D), (E)
18.(A) 19.(B) 20.(C) 21.(A) 22.(D)
23.(A) 24. 25. (B), (D), (E)
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(C) Helped U.S. enemies secretly: 9-131W & &%

(D) Killed president for money: AZEZX|
(E) Took a long time to catch: 24mj
(F) Never had a good job: 18-19mj

(A) Killed President Kennedy: 3-4mj
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